/DVIRB

*UXSD 5RINiDG = O3 6% /

& 7\J

HURGD

= \EUDQH HHPHQN
LQIRUPDINNL GU BICSIHE
/GD$ -03 .6%/

7\

= \EUDQH HIHPHQIN ILJ\NL
GU 3IDVHFNL OLFKD: $

-03 .6%/ -

7N 7N 7N 7N
3UDZD L RERZI]N. GHIHNINZD PJU = DVIN 3RGVIDZ\ NAPLQRRJL PJU = DVIN $GUDQ $
$GUDQ $ & = SIRZDG]HQUH GR IHFKQL 3UDZD | RERZIG]N. = SIRZDG]HQUH GR IHFKQL % 3 .6%/
NUNPLODLVINFTQNFK GU GHIHNNZD PJU = DVIN NUNPLODIVINFTQNFK GU
7N _UDZF]\N = DIGHPDU $ $6UDQ $ 03 _UDZF]\N = DIGHPDU $
. /5% &%/ & /5%
j*f‘ivg‘,%\ggu}[? 10RIRIL P .5<0,1$/,67<., =03 .5<0,1$/,67<., =03
z : Q$ 6%/ /7 6%/ /7
I 03 .6%/ & -9 -9%
8 ZDW]IDA ZDW]IDA
= 7\6]
2 3UDZD | RERZIG]N.
3 GHIHNNZD PJU = DVIN B
T $GUDQ $ =03 1
n &%/ & 3RGVIDZ\
NUAPLQRIRJL
L P
= DVIN
$GUDQ $
-03
6%/
&
7N 7N 7\G]
= \EUDQH HHPHQIN IL]\N. 3URIHNIRZDQUH | 3URIHNIRZDQUH |
PJU 6KFKHSDQVN\L 3DYIR PRGHIRZDQIH VAVIHPYZ PRGHIRZDQIH VAVIHPYZ
$  -03.6%/ EH]JSIHFJHEWIZD GU EH]JSIHFTHEWIZD GU
& 3UDXJQH 7TRPDV] $ 3UDXJQH 7TRPDV] $
-03.6%/ & z03.6%/ -
z
I 7N
c 76l 3URIHNIRZDQIH L
N = \EUDQH PRGHIRZDQIH VAVIHPYZ
HIHPHQN EH]SIHFIHEWIZD GU
I\ PJU 3UDXJQHU 7RPDV] $%
BKFKHSDQV =03 .6%/ -
N\ 3DYIR
$ -0
3 .6%/
&
7N 7N
JHNIRIDN (Z =03 .6%/ = - = \EUDQH HIHPHQI\ IQIRUPDINN. PJU [QT = \EUDQH HHPHQ ILJ\N. -1X]D -DPU
- e - ) ~RPDEVND .1QJD $% ZURQD JDEHID $% = =03 6%/
YZQ\EXG\QHN $-7 X0 = DVINQJIRQD = \EUDQH .20387(52:% =03 6%/ / /
HHPHON
LQIRUPDIANL
GU BICSIHE
/I6D $
=03 .6%
/ -
7N




/DVIRB

*UXSD 5RINiDG =03 6% / & 7\J
7\G]
o) = \EUDQH
0] HIHPHQIN
x IJ\NL GU
T 3IDVHFNL
OLFKDi $
-03
6%/
7\J 7\J
G‘ = \EUDQH HIHPHQIN ILJ\NL GU 3LDVHFNL = \EUDQH HIHPHQIN LQIRUPDINNL PJU
OLFKD: $% 03 .6%/ / GgILPDN "DPLDQ $%
‘ .20387(52:% -03 .6%/ /
7\J 7\J 7\J 7\J 7\J 7\J
- RPXQINDFID VSRiHF]QD - RPXQINDFID VSRiHF]QD - RPXQINDFID VSRiHF]QD
= SURZDG]HQIH GR IHFKQL Z 10U]3G]DQIX = SURZDG]HQIH GR IHFKQL Z 1DU]1aG]DAX 3URIHNIRZDQIH L Z 1DU]aG]DQX
NUNPLQDIVINFJQ\FK GU EH]SIHFJHEVIZHP PJU NUNPLQDIVINFJQ\FK GU EH]SIHFJHEVIZHP PJU PRGHIRZDQH V\VIHPYZ EH]SIHFJHEVIZHP PJU
_UDZFJ\N = DIGHPDU $% /D]DU -RDQQD $ z _UDZFJ\N = DIGHPDU $ /D]DU -RDQQD $ z EH]SIHFJHEVIZD GU %XG]IN 7DGHXV] $
03 .6%/ z 03 .6%w/ [/ /$% 03 .6%/ [/ 3UDX]QHU 7RPDV] $ 03 .6%/ [/
. .5<0,1%$/,67<., =03 . 3URIRINSRZDQID = =03 e
ZDUWV]IDIN YA, ZDUWV]IDIN o% s/ ZDUW]IDIN
7\J ZDUWV]IDIN 7\J
% 3URIHNIRZDQIH L = SURZDG]HQIH GR IHFKQL
= PRGHIRZDQH V\VIHPYZ NUNPLQDIVINFQ\FK GU
Q EH]SIHFJHEVIZD GU -UDZFJ\N = DIGHPDU $
n 3UDX]QHU 7RPDV] $ /$%
3URIRINSRZDQID = =03 .5<0,1%$/,67<., =03
6%/ / 6%/ /
WD
ZDUWV]IDIN 3
- RPXQINDFID VSR:HF]QD
Z 1DU]3G]DQIX
EH]SIHFJHEVIZHP PJU
%XG]IN 7DGHXV] $
03 .6%/ [/
ZDW]ID\
[a g
©




